Q12 FE~14ZBFOH A=Ri -F—TOHBERH B=#HX -TOvy/HIEEY
&L K4 BEHBAUL | REBRIE | ERSUF | B—FR
1 [FBKEZN 76.00 60.00 16.00
2 |xf & 50.00 20.00 30.00
3 |AK %3 46.55 45.00 1.55
4 (HRINE/ N 36.13 27.50 8.63
5 |J\KIREDER 29.05 27.50 1.55
6 |FE A 20.55 17.50 3.05
7 |EF® XF0 20.33 15.00 5.33
8 |BFRX RE 18.50 9.87 8.63
9 |5FE B’ 16.00 16.00
10 |&RBFKRH 15.20 9.87 5.33
11 |B8 K 15.13 6.50 8.63
12 |EiE Eit 11.42 9.87 1.55
13 |fhl BEE 10.51 9.87 0.64
14 |defE BHE 8.60 6.50 2.10
15 |#LE K& 6.15 3.10 3.05
16 |k # 5.49 4.80 0.69
17 | KR8 ZX 5.35 2.30 3.05
18 [EHRKES 5.33 5.33
19 |E@A #X 5.28 4.80 0.48
20 EF =&/ 5.06 410 0.96
21 |FtH EIE 450 2.40 2.10
22 |[&FEZN 4.19 3.50 0.69
23 ([AHE £ 3.59 2.80 0.79
24 |k KBS 3.46 2.50 0.96
25 | KEBEIRKXER 3.05 3.05
25 |HEBE KM 3.05 3.05
25 |2 FREH 3.05 3.05
28 |2 K 2.99 2.20 0.79
29 (AW K 2.86 1.90 0.96
30 |/hvith fEiD 2.84 2.05 0.79
31 (WA R 2.69 2.05 0.64
32 = 2.49 1.85 0.64
33 |#AA fFRE 2.10 2.10
34 |RIF HM 1.55 1.55
34 |FEHNZKER 1.55 1.55
4 |ZR RBE 1.55 1.55
34 |ER &KX 1.55 1.55
34 |2 RKE 1.55 1.55
39 [EEN ER 0.96 0.96
39 |dtEH #EX 0.96 0.96
39 |&H #X 0.96 0.96
42 |BWR FIE 0.79 0.00 0.79
42 M REH 0.79 0.79
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Q12 FE~14ZBFOH A=Ri -F—TOHBERH B=#HX -TOvy/HIEEY
&L K4 BEHBAUL | REBRIE | ERSUF | B—FR
42 |EH @mL 0.79 0.79
45 |BE = 0.69 0.69
45 |BRE 1&E 0.69 0.69
45 |®E EHIX 0.69 0.69
48 |AEFE 183K 0.64 0.64
49 |E£FH Ft 0.57 0.57
49 |BELHR 0.57 0.57
49 |/pMU F 0.57 0.57
49 |E@R #E 0.57 0.57
49 |LEBEFRBEST 0.57 0.57
49 |(ILO#—ER 0.57 0.57
49 | RANFIEwWK 0.57 0.57
49 |HEZZN 0.57 0.57
49 WA =R 0.57 0.57
49 |£F AE 0.57 0.57
59 |Ei# K— 0.48 0.48
59 |ZIg RE 0.48 0.48
59 |E® AKX 0.48 0.48
59 |HlU K& 0.48 0.48
59 |FE #HFE 0.48 0.48
59 | EAIfENEA 0.48 0.48
59 |AE & 0.48 0.48
66 |mHATHIAER 0.43 0.43
66 |EH FHEE 0.43 0.43
66 |FEO KR 0.43 0.43
69 |ILA thiE 0.39 0.39
69 [IEAX Hi} 0.39 0.39
69 |;AK BEX 0.39 0.39
69 |ILO XKE& 0.39 0.39
69 |&E Kb& 0.39 0.39
74 |HF BRE 0.35 0.35
74 |He XK 0.35 0.35
74 |XE HEH 0.35 0.35
77 |FRINERE 0.29 0.29
77 |FEE BR 0.29 0.29
77 |BR IKIE 0.29 0.29
77 |FIERFR A 0.29 0.29
77 |HE 5 0.29 0.29
77 |&F%F BE 0.29 0.29
77 |EHO I 0.29 0.29
77 | MAAREEAER 0.29 0.29
77 |HiEO# 0.29 0.29
86 |#Tik FRIE 0.22 0.22
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Q12 FE~14ZBFOH A=Ri -F—TOHBERH B=#HX -TOvy/HIEEY
&L K4 BEHBAUL | REBRIE | ERSUF | B—FR
86 |1 {RAER 0.22 0.22
86 |MR Jtth 0.22 0.22
86 |KIE & 0.22 0.22
86 |k {(HF 0.22 0.22
N |HE B 0.16 0.16
91 |IUX f2# 0.16 0.16
91 |EARKHE 0.16 0.16
91 |RIEFEZIT 0.16 0.16
91 |{kHE #HE 0.16 0.16
91 K B&BX 0.16 0.16
97 |/IMARKE 0.12 0.12
97 |EBHEE EA 0.12 0.12
99 |/ME 4K 0.11 0.11
100 |fki%k #iE 0.10 0.10
100 |38 E 0.10 0.10
100 (LB &mT 0.10 0.10
100 |&F $F 0.10 0.10
100 |WH MBE 0.10 0.10
100 |JkRA K& 0.10 0.10
100 |fEFTSEXER 0.10 0.10
100 |i%% KX 0.10 0.10
100 {E¥ &=AKX 0.10 0.10
100 |HE®—HR 0.10 0.10
100 (MK #5F 0.10 0.10
100 |Bf FE 0.10 0.10
100 |F#F @l 0.10 0.10
100 | KR+ FE3} 0.10 0.10
100 |&F &K 0.10 0.10
100 |#XF ZR4E0 0.10 0.10
100 |iTfE #EEA 0.10 0.10
100 |FE &£8§ 0.10 0.10
100 |/\& = 0.10 0.10
100 |(WHFFME 0.10 0.10
100 |ZEE& BEA 0.10 0.10
100 (¥ EiE 0.10 0.10
100 |EHFEAXER 0.10 0.10
100 (WA FIE 0.10 0.10
100 |57 IEM 0.10 0.10
100 |;B/KIZKER 0.10 0.10
100 |(FZE BL 0.10 0.10
100 (2R #¥F 0.10 0.10
100 |#RAREAEA 0.10 0.10
100 (#3L FLiA 0.10 0.10
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Q12 ~ 14 BFDE A=RE A —T BRI B=1X -J0v/Hi5HE1
[[=Riva K4 BERAUE | REBRECUE | HRRSUL | B—FR

100 |StE Ttk 0.10 0.10

100 |K#EZA 0.10 0.10
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